
ΚΩΝΣΤΑΝΤΙΝΟΣ ΧΑΡΙΖΑΝΗΣ  ΧΗΜΕΙΑ Β´ 

 

Να συμπληρώσετε τις παρακάτω αντιδράσεις αφυδάτωσης αλκοολών: 

 

 

                  θ1 

α. CH3CH2CH2CΗ2ΟΗ  → CH3CH2CH=CΗ2  +  H2O 

 

                 θ2<θ1 

    2CH3CH2CH2CΗ2ΟΗ  →  CH3CH2CH2CΗ2ΟCH2CH2CH2CΗ3 + Η2O 

 

 

 

     θ1 

β. CH3CH2CHCH3   →  CH3CH=CHCΗ3  +  H2O 

                   | 

                  ΟΗ 

 

                 θ2<θ1 

    2CH3CH2CHCH3   →  CH3CH2CH-Ο-CHCH2CH3  +  Η2O 

                     |            │ │ 

         ΟΗ            CH3     CH3 
 


